
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

93% = ________ 87% = ________

61% = ________ 76% = ________

64% = ________ 4% = ________

27% = ________ 47% = ________

80% = ________ 35% = ________

76% = ________ 78% = ________

36% = ________ 70% = ________

67% = ________ 34% = ________

20% = ________ 59% = ________

80% = ________ 7% = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

93% =
100
93

87% =
100
87

61% =
100
61

76% =
25
19

64% =
25
16

4% =
25
1

27% =
100
27

47% =
100
47

80% =
5
4

35% =
20
7

76% =
25
19

78% =
50
39

36% =
25
9

70% =
10
7

67% =
100
67

34% =
50
17

20% =
5
1

59% =
100
59

80% =
5
4

7% =
100
7
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